BRIDGE Day 1
Independent Practice
Simplifying Surds: no calculators!

1 Simplify
a  (V5) b)
d  3(2++5)—-2(5-3V5)
) (2+V5)(4-3V5)
hy  (3++5)(3-+v5)

2 Prove formally that
a)  V3xV5=+15
c) 3v2 x 2v3 = 616

3 Simplify
a) V18 b)
d V84 V50 e)

g (V243 — V75— Va8)’
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4 Simplify
a) V8 ++/18 b)

c) V500 — /80 d)

5 Simplify
6
a) 7 b)
12
d % ¢
6 Simplify

) X-(V8) -va5

7 a) Which is bigger: 7 or 5v/2
b) Which is bigger: V3 or /5
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b) V30++v10=+3

V48
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(a—2v5)’
(5+V5)(3-V5)

) v/500-/80
€ V5420
) 12
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f) 243




